	eCounty	Summa	Summary of Bids Received									
Project: Section:	Butterfield Road 22-00999-88-RS	•			B-01636a 15-Oct-24							
			and IL-137 Peterson Road, and Winchester phalt surface will be milled and resurfaced									
Description:		e. Additional improvements include filling a Butterfield Road, ADA ramp improvement	a sidewalk gap from Winchester Road to Si	i.								
Description:			a sidewalk gap from Winchester Road to Si	Bid Price	% Over/Under Eng. Estimate	\$ Over/Under Eng. Estimate						
Description: Peter Baker & Sc	William Drive on Bidder	Butterfield Road, ADA ramp improvement	a sidewalk gap from Winchester Road to Si ts, and other related work.		Eng. Estimate	• • • • • •						
	William Drive on Bidder n Company	Butterfield Road, ADA ramp improvement Address	a sidewalk gap from Winchester Road to Si ts, and other related work. City, State, Zip	Bid Price	Eng. Estimate -40.24%	Eng. Estimate						

	LakeCount		on							
	Project: Section:	Butterfield Road Resurfacing 22-00999-88-RS							B-01636a 15-Oct-24	
	Description:	Resurface Butterfield Road between IL-176 Park Avenue and IL-137 Peterson Road, and Winchester Road between Lucerne Lane and Loyola Drive. Existing asphalt surface will be milled and resurfaced with new HMA surface. Additional improvements include filling a sidewalk gap from Winchester Road to St. William Drive on Butterfield Road, ADA ramp improvements, and other related work.								
tem No.	Pay Code	Description	Quantity	Unit	Eng Uni	t Price	Peter Baker & S	Son Company	Builders Pa	aving, LLC
					Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
1	20200100	EARTH EXCAVATION	308.0	CU YD	\$45.00	\$13,860.00	\$50.00	\$15,400.00	\$55.00	\$16,940
2	20400800	FURNISHED EXCAVATION	200.0	CU YD	\$45.00	\$9,000.00	\$45.00	\$9,000.00	\$55.00	\$11,00
3	28000305	TEMPORARY DITCH CHECKS	56.0	FOOT	\$25.00	\$1,400.00	\$20.00	\$1,120.00	\$20.00	\$1,12
4	28000400	PERIMETER EROSION BARRIER	100.0	FOOT	\$15.00	\$1,500.00	\$10.00	\$1,000.00	\$6.00	\$6
5	28000510	INLET FILTERS	5.0	EACH	\$250.00	\$1,250.00	\$365.00	\$1,825.00	\$270.00	\$1,3
6	35101600	AGGREGATE BASE COURSE, TYPE B 4"	1,447.0	SQ YD	\$12.00	\$17,364.00	\$3.25	\$4,702.75	\$3.50	\$5,06
7	40600290	BITUMINOUS MATERIALS (TACK COAT)	76,916.0	POUND	\$1.50	\$115,374.00	\$0.01	\$769.16	\$0.01	\$76
8	40600370	LONGITUDINAL JOINT SEALANT	46,228.0	FOOT	\$3.00	\$138,684.00	\$2.47	\$114,183.16	\$2.70	\$124,81
9	40600400	MIXTURE FOR CRACKS, JOINTS, AND FLANGEWAYS	10.0	TON	\$100.00	\$1,000.00	\$100.00	\$1,000.00	\$1,000.00	\$10,00
10	40600990	TEMPORARY RAMP	280.0	SQ YD	\$15.00	\$4,200.00	\$1.00	\$280.00	\$20.00	\$5,60
11	40603200	POLYMERIZED HOT-MIX ASPHALT BINDER COURSE, IL-4.75, N50 POLYMERIZED HOT-MIX ASPHALT SURFACE COURSE, IL-9.5, MIX	3,427.0	TON	\$110.00	\$376,970.00	\$97.25	\$333,275.75	\$118.00	\$404,38
12	40604172	"E", N70	7,974.0	TON	\$110.00	\$877,140.00	\$92.55	\$737,993.70	\$120.00	\$956,88
13	42001300	PROTECTIVE COAT	2,645.0	SQ YD	\$2.00	\$5,290.00	\$1.00	\$2,645.00	\$1.00	\$2,64
14	42400200	PORTLAND CEMENT CONCRETE SIDEWALK 5 INCH	16,039.0	SQ FT	\$10.00	\$160,390.00	\$10.00	\$160,390.00	\$10.50	\$168,40
15	44000159	HOT-MIX ASPHALT SURFACE REMOVAL, 2 1/2"	83,278.0	SQ YD	\$6.00	\$499,668.00	\$3.15	\$262,325.70	\$6.00	\$499,6
16	44000500	COMBINATION CURB AND GUTTER REMOVAL	1,008.0	FOOT	\$8.00	\$8,064.00	\$9.00	\$9,072.00	\$9.00	\$9,0
17	44004250	PAVED SHOULDER REMOVAL	692.0	SQ YD	\$25.00	\$17,300.00	\$14.00	\$9,688.00	\$16.00	\$11,0
18	44201761	CLASS D PATCHES, TYPE I, 10 INCH	417.0	SQ YD	\$150.00	\$62,550.00	\$30.00	\$12,510.00	\$45.00	\$18,7
19	44201765	CLASS D PATCHES, TYPE II, 10 INCH	625.0	SQ YD	\$140.00	\$87,500.00	\$30.00	\$18,750.00	\$45.00	\$28,1
20	44201769	CLASS D PATCHES, TYPE III, 10 INCH	1,874.0	SQ YD	\$130.00	\$243,620.00	\$30.00	\$56,220.00	\$45.00	\$84,3
21	44201771	CLASS D PATCHES, TYPE IV, 10 INCH	1,250.0	SQ YD	\$120.00	\$150,000.00	\$30.00	\$37,500.00	\$45.00	\$56,2
22	60250200	CATCH BASINS TO BE ADJUSTED CATCH BASINS TO BE ADJUSTED WITH NEW TYPE 24 FRAME AND	2.0	EACH	\$1,500.00	\$3,000.00	\$615.00	\$1,230.00	\$850.00	\$1,7
23	60251740	GRATE	1.0	EACH	\$1,500.00	\$1,500.00	\$935.00	\$935.00	\$1,450.00	\$1,4
24	60255500	MANHOLES TO BE ADJUSTED	12.0	EACH	\$2,000.00	\$24,000.00	\$490.00	\$5,880.00	\$1,250.00	\$15,0
25	60406001	FRAMES AND LIDS, TYPE 1, ADA COMPLIANT, OPEN LID	2.0	EACH	\$750.00	\$1,500.00	\$425.00	\$850.00	\$525.00	\$1,0
26	60600605	CONCRETE CURB, TYPE B COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.24	450.0	FOOT	\$40.00	\$18,000.00	\$35.00	\$15,750.00	\$36.00	\$16,2
27	60605100	(ABUTTING EXISTING PAVEMENT)	1,008.0	FOOT	\$50.00	\$50,400.00	\$45.00	\$45,360.00	\$46.00	\$46,3

ltem No.	Pay Code	Description	Quantity	Unit	Eng Unit Price		Peter Baker &	Son Company	Builders Paving, LLC	
	-	•			Unit Price Extnd. Price		Unit Price Extnd. Price		Unit Price Extnd. Price	
29	67100100	MOBILIZATION	1.0	L SUM	\$250,000.00	\$250,000.00	\$110,500.00	\$110,500.00	\$286,609.28	\$286,609.2
30	70300100	SHORT TERM PAVEMENT MARKING	35,887.0	FOOT	\$1.00	\$35,887.00	\$0.01	\$358.87	\$0.01	\$358.8
31	70300211	TEMPORARY PAVEMENT MARKING LETTERS AND SYMBOLS - PAINT	1,457.0	SQ FT	\$1.10	\$1,602.70	\$0.01	\$14.57	\$0.01	\$14.5
32	70300221	TEMPORARY PAVEMENT MARKING - LINE 4"- PAINT	42,200.0	FOOT	\$0.30	\$12,660.00	\$0.01	\$422.00	\$0.01	\$422.0
33	70300231	TEMPORARY PAVEMENT MARKING - LINE 5"- PAINT	23,275.0	FOOT	\$0.40	\$9,310.00	\$0.01	\$232.75	\$0.01	\$232.7
34	70300241	TEMPORARY PAVEMENT MARKING - LINE 6"- PAINT	4,383.0	FOOT	\$0.35	\$1,534.05	\$0.01	\$43.83	\$0.01	\$43.8
35	70300261	TEMPORARY PAVEMENT MARKING - LINE 12"- PAINT	3,439.0	FOOT	\$1.00	\$3,439.00	\$0.01	\$34.39	\$0.01	\$34.3
36	70300281	TEMPORARY PAVEMENT MARKING - LINE 24"- PAINT	549.0	FOOT	\$2.00	\$1,098.00	\$0.01	\$5.49	\$0.01	\$5.4
37	70307120	TEMPORARY PAVEMENT MARKING - LINE 4" - TYPE IV TAPE	8,972.0	FOOT	\$1.00	\$8,972.00	\$0.01	\$89.72	\$0.01	\$89.
38	78000100	THERMOPLASTIC PAVEMENT MARKING - LETTERS AND SYMBOLS	1,457.0	SQ FT	\$1.00	\$1,457.00	\$5.50	\$8,013.50	\$5.50	\$8,013.
39	78000200	THERMOPLASTIC PAVEMENT MARKING - LINE 4"	36,982.0	FOOT	\$1.15	\$42,529.30	\$0.75	\$27,736.50	\$0.75	\$27,736.
40	78000400	THERMOPLASTIC PAVEMENT MARKING - LINE 6"	27,658.0	FOOT	\$1.50	\$41,487.00	\$1.00	\$27,658.00	\$1.00	\$27,658.
41	78000600	THERMOPLASTIC PAVEMENT MARKING - LINE 12"	3,439.0	FOOT	\$2.00	\$6,878.00	\$2.50	\$8,597.50	\$2.50	\$8,597.5
42	78000650	THERMOPLASTIC PAVEMENT MARKING - LINE 24"	549.0	FOOT	\$5.00	\$2,745.00	\$5.50	\$3,019.50	\$5.50	\$3,019.
43	78004620	PREFORMED PLASTIC PAVEMENT MARKING, TYPE D - STANDARD - LINE 4"	5,218.0	FOOT	\$15.00	\$78,270.00	\$7.60	\$39,656.80	\$7.60	\$39,656.8
		GROOVING FOR RECESSED PAVEMENT MARKING, LETTERS AND								
44	78011000	SYMBOLS	1,750.0	SQ FT	\$2.00	\$3,500.00	\$2.00	\$3,500.00	\$2.00	\$3,500.
45	78011025	GROOVING FOR RECESSED PAVEMENT MARKING 5"	36,982.0	FOOT	\$0.35	\$12,943.70	\$0.40	\$14,792.80	\$0.40	\$14,792.
46	78011035	GROOVING FOR RECESSED PAVEMENT MARKING 7"	27,658.0	FOOT	\$0.65	\$17,977.70	\$0.45	\$12,446.10	\$0.45	\$12,446.
47	78011040	GROOVING FOR RECESSED PAVEMENT MARKING 8"	5,218.0	FOOT	\$0.80	\$4,174.40	\$0.70	\$3,652.60	\$0.70	\$3,652.
48	78011065	GROOVING FOR RECESSED PAVEMENT MARKING 13"	3,439.0	FOOT	\$1.00	\$3,439.00	\$1.00	\$3,439.00	\$1.00	\$3,439.
49	78011125	GROOVING FOR RECESSED PAVEMENT MARKING 25"	549.0	FOOT	\$2.00	\$1,098.00	\$2.00	\$1,098.00	\$2.00	\$1,098.
50	78300200	RAISED REFLECTIVE PAVEMENT MARKER REMOVAL	574.0	EACH	\$25.00	\$14,350.00	\$13.00	\$7,462.00	\$5.00	\$2,870.
51	81028210	UNDERGROUND CONDUIT, GALVANIZED STEEL, 2 1/2" DIA.	9.0	FOOT	\$75.00	\$675.00	\$189.40	\$1,704.60	\$189.40	\$1,704.
52	85000300	MAINTENANCE OF EXISTING TRAFFIC SIGNAL INSTALLATION	1.0	L SUM	\$5,000.00	\$5,000.00	\$40,000.00	\$40,000.00	\$40,000.00	\$40,000.
53	87301215	ELECTRIC CABLE IN CONDUIT, SIGNAL NO. 14 2C	230.0	FOOT	\$35.00	\$8,050.00	\$5.10	\$1,173.00	\$5.10	\$1,173.
54	87301225	ELECTRIC CABLE IN CONDUIT, SIGNAL NO. 14 3C	239.0	FOOT	\$40.00	\$9,560.00	\$5.90	\$1,410.10	\$5.90	\$1,410.
55	87800100	CONCRETE FOUNDATION, TYPE A	4.0	FOOT	\$1,000.00	\$4,000.00	\$852.80	\$3,411.20	\$852.80	\$3,411.
56	87900200	DRILL EXISTING HANDHOLE	1.0	EACH	\$750.00	\$750.00	\$657.00	\$657.00	\$657.00	\$657.0
57	89500200	RELOCATE EXISTING PEDESTRIAN SIGNAL HEAD	1.0	EACH	\$250.00	\$250.00	\$1,297.00	\$1,297.00	\$1,297.00	\$1,297.
58	89500400	RELOCATE EXISTING PEDESTRIAN PUSH-BUTTON	1.0	EACH	\$250.00	\$250.00	\$1,292.00	\$1,292.00	\$1,292.00	\$1,292.
59	89501150	RELOCATE EXISTING TRAFFIC SIGNAL POST	1.0	EACH	\$500.00	\$500.00	\$1,297.00	\$1,297.00	\$1,297.00	\$1,297.
60	89502300	REMOVE ELECTRIC CABLE FROM CONDUIT	18.0	FOOT	\$10.00	\$180.00	\$0.60	\$10.80	\$0.60	\$10.
61	89502376	REBUILD EXISTING HANDHOLE	1.0	EACH	\$2,500.00	\$2,500.00	\$7,435.00	\$7,435.00	\$7,435.00	\$7,435.
62	89502385	REMOVE EXISTING CONCRETE FOUNDATION	1.0	EACH	\$500.00	\$500.00	\$2,560.00	\$2,560.00	\$2,560.00	\$2,560.
63	LC200051	REJECTED LOAD TRANSPORTATION	1.0	LOAD	\$275.00	\$275.00	\$250.00	\$250.00	\$540.00	\$540.
64	LC200501	MAINTENANCE OF TEMPORARY EROSION CONTROL SYSTEMS	5,700.0	UNIT	\$1.00	\$5,700.00	\$1.00	\$5,700.00	\$1.00	\$5,700.
65	LC400161	LEVELING BINDER (HAND METHOD), N70	5.0	TON	\$250.00	\$1,250.00	\$100.00	\$500.00	\$200.00	\$1,000.
66	LC400202	SEAL COAT	5,460.0	SQ YD	\$5.00	\$27,300.00	\$2.10	\$11,466.00	\$1.89	\$10,319.4
67	LC400209	PAVEMENT REJUVENATOR - MALTENE BASED	84,868.0	SQ YD	\$3.50	\$297,038.00	\$1.28	\$108,631.04	\$1.28	\$108,631.0
68	LC400210	TEMPORARY REFLECTIVE TABS - 4"	710.0	EACH	\$3.00	\$2,130.00	\$3.15	\$2,236.50	\$3.15	\$2,236.5
69	LC400211	PAVEMENT MARKING CLEANING	4,775.0	UNIT	\$1.00	\$4,775.00	\$1.50	\$7,162.50	\$1.50	\$7,162.5

Item No.	Pay Code	Description	Quantity	Unit	Eng Unit Price		Peter Baker & Son Company		Builders Paving, LLC	
					Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
70	LC400214	ACCEPTANCE TESTING	1.0	L SUM	\$10,000.00	\$10,000.00	\$6,385.00	\$6,385.00	\$10,000.00	\$10,000.00
71	LC600004	CLEAN EXISTING STRUCTURES	1.0	EACH	\$10,000.00	\$10,000.00	\$700.00	\$700.00	\$1,500.00	\$1,500.00
72	LC600200	INSTALL SURVEY MONUMENTS	10.0	EACH	\$1,000.00	\$10,000.00	\$400.00	\$4,000.00	\$250.00	\$2,500.00
73	X2800500	INLET PROTECTION (SPECIAL)	4.0	EACH	\$250.00	\$1,000.00	\$300.00	\$1,200.00	\$450.00	\$1,800.00
74	X4401198	HOT-MIX ASPHALT SURFACE REMOVAL, VARIABLE DEPTH	1,800.0	SQ YD	\$50.00	\$90,000.00	\$3.65	\$6,570.00	\$5.00	\$9,000.00
75	X6060505	CONCRETE CURB (SPECIAL)	200.0	FOOT	\$50.00	\$10,000.00	\$37.00	\$7,400.00	\$38.00	\$7,600.00
76	X6700405	ENGINEER'S FIELD OFFICE, TYPE A (MODIFIED)	12.0	CAL MO	\$3,200.00	\$38,400.00	\$100.00	\$1,200.00	\$3,300.00	\$39,600.00
77	X7010216	TRAFFIC CONTROL AND PROTECTION, (SPECIAL)	1.0	L SUM	\$50,000.00	\$50,000.00	\$64,750.00	\$64,750.00	\$150,000.00	\$150,000.00
78	XX006343	SEEDING (COMPLETE)	1,137.0	SQ YD	\$25.00	\$28,425.00	\$11.50	\$13,075.50	\$12.70	\$14,439.90
79	XX006429	SIDEWALK, SPECIAL	1,320.0	SQ FT	\$10.00	\$13,200.00	\$12.00	\$15,840.00	\$13.50	\$17,820.00
80	Z0048665	RAILROAD PROTECTIVE LIABILITY INSURANCE	1.0	L SUM	\$10,000.00	\$10,000.00	\$7,235.00	\$7,235.00	\$5,000.00	\$5,000.00
81	Z0064562	SEGMENTAL BLOCK RETAINING WALL REPAIR	1,375.0	SQ FT	\$50.00	\$68,750.00	\$20.00	\$27,500.00	\$59.20	\$81,400.00
					Total	\$4,161,833.85		\$2,487,303.38		\$3,483,398.00

Return Bid Details

CakeCounty
Division of Transportation

 Project: Butterfield Road Resurfacing

Section:

Description:

22-00999-88-RS

 CPMS Pin:
 B-01636a

 Let Date:
 15-Oct-24

Resurface Butterfield Road between IL-176 Park Avenue and IL-137 Peterson Road, and Winchester Road between Lucerne Lane and Loyola Drive. Existing asphalt surface will be milled and resurfaced with new HMA surface. Additional improvements include filling a sidewalk gap from Winchester Road to St. William Drive on Butterfield Road, ADA ramp improvements, and other related work.

Item No.	Pay Code	Description	Quantity	Unit	Eng Unit	Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
		•			Unit Price Extnd. Price				-
1	20200100	EARTH EXCAVATION	308.0	CU YD	\$45.00	\$13,860.00	\$50.00	\$55.00	\$52.50
2	20400800	FURNISHED EXCAVATION	200.0	CU YD	\$45.00	\$9,000.00	\$45.00	\$55.00	\$50.00
3	28000305	TEMPORARY DITCH CHECKS	56.0	FOOT	\$25.00	\$1,400.00	\$20.00	\$20.00	\$20.00
4	28000400	PERIMETER EROSION BARRIER	100.0	FOOT	\$15.00	\$1,500.00	\$6.00	\$10.00	\$8.00
5	28000510	INLET FILTERS	5.0	EACH	\$250.00	\$1,250.00	\$270.00	\$365.00	\$317.50
6	35101600	AGGREGATE BASE COURSE, TYPE B 4"	1447.0	SQ YD	\$12.00	\$17,364.00	\$3.25	\$3.50	\$3.38
7	40600290	BITUMINOUS MATERIALS (TACK COAT)	76916.0	POUND	\$1.50	\$115,374.00	\$0.01	\$0.01	\$0.01
8	40600370	LONGITUDINAL JOINT SEALANT	46228.0	FOOT	\$3.00	\$138,684.00	\$2.47	\$2.70	\$2.58
9	40600400	MIXTURE FOR CRACKS, JOINTS, AND FLANGEWAYS	10.0	TON	\$100.00	\$1,000.00	\$100.00	\$1,000.00	\$550.00
10	40600990	TEMPORARY RAMP	280.0	SQ YD	\$15.00	\$4,200.00	\$1.00	\$20.00	\$10.50
11	40603200	POLYMERIZED HOT-MIX ASPHALT BINDER COURSE, IL-4.75, N50 POLYMERIZED HOT-MIX ASPHALT SURFACE COURSE, IL-9.5, MIX "E",	3427.0	TON	\$110.00	\$376,970.00	\$97.25	\$118.00	\$107.62
12	40604172	N70	7974.0	TON	\$110.00	\$877,140.00	\$92.55	\$120.00	\$106.28
13	42001300	PROTECTIVE COAT	2645.0	SQ YD	\$2.00	\$5,290.00	\$1.00	\$1.00	\$1.00
14	42400200	PORTLAND CEMENT CONCRETE SIDEWALK 5 INCH	16039.0	SQ FT	\$10.00	\$160.390.00	\$10.00	\$10.50	\$10.25
15	44000159	HOT-MIX ASPHALT SURFACE REMOVAL, 2 1/2"	83278.0	SQ YD	\$6.00	\$499,668.00	\$3.15	\$6.00	\$4.58
16	44000500	COMBINATION CURB AND GUTTER REMOVAL	1008.0	FOOT	\$8.00	\$8,064.00	\$9.00	\$9.00	\$9.00
17	44004250	PAVED SHOULDER REMOVAL	692.0	SQ YD	\$25.00	\$17,300.00	\$14.00	\$16.00	\$15.00
18	44201761	CLASS D PATCHES, TYPE I, 10 INCH	417.0	SQ YD	\$150.00	\$62,550.00	\$30.00	\$45.00	\$37.50
19	44201765	CLASS D PATCHES, TYPE II, 10 INCH	625.0	SQ YD	\$140.00	\$87,500.00	\$30.00	\$45.00	\$37.50
20	44201769	CLASS D PATCHES, TYPE III, 10 INCH	1874.0	SQ YD	\$130.00	\$243,620.00	\$30.00	\$45.00	\$37.50
21	44201771	CLASS D PATCHES, TYPE IV, 10 INCH	1250.0	SQ YD	\$120.00	\$150,000.00	\$30.00	\$45.00	\$37.50
22	60250200	CATCH BASINS TO BE ADJUSTED CATCH BASINS TO BE ADJUSTED WITH NEW TYPE 24 FRAME AND	2.0	EACH	\$1,500.00	\$3,000.00	\$615.00	\$850.00	\$732.50
23	60251740	GRATE	1.0	EACH	\$1,500.00	\$1,500.00	\$935.00	\$1,450.00	\$1,192.50
24	60255500	MANHOLES TO BE ADJUSTED	12.0	EACH	\$2,000.00	\$24,000.00	\$490.00	\$1,250.00	\$870.00
25	60406001	FRAMES AND LIDS, TYPE 1, ADA COMPLIANT, OPEN LID	2.0	EACH	\$750.00	\$1,500.00	\$425.00	\$525.00	\$475.00
26	60600605	CONCRETE CURB. TYPE B	450.0	FOOT	\$40.00	\$18,000.00	\$35.00	\$36.00	\$35.50
27	60605100	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.24 (ABUTTING EXISTING PAVEMENT)	1008.0	FOOT	\$50.00	\$50,400.00	\$45.00	\$46.00	\$45.50
28	66900200	NON-SPECIAL WASTE DISPOSAL	11.0	CU YD	\$500.00	\$5,500.00	\$75.00	\$180.00	\$127.50
29	67100100	MOBILIZATION	1.0	L SUM	\$250,000.00	\$250,000.00	\$110,500.00	\$286,609.28	\$198,554.64
30	70300100	SHORT TERM PAVEMENT MARKING	35887.0	FOOT	\$1.00	\$35,887.00	\$0.01	\$0.01	\$0.01
31	70300211	TEMPORARY PAVEMENT MARKING LETTERS AND SYMBOLS - PAINT	1457.0	SQ FT	\$1.10	\$1,602.70	\$0.01	\$0.01	\$0.01
32	70300221	TEMPORARY PAVEMENT MARKING - LINE 4"- PAINT	42200.0	FOOT	\$0.30	\$12,660.00	\$0.01	\$0.01	\$0.01
33	70300231	TEMPORARY PAVEMENT MARKING - LINE 5"- PAINT	23275.0	FOOT	\$0.40	\$9,310.00	\$0.01	\$0.01	\$0.01
34	70300241	TEMPORARY PAVEMENT MARKING - LINE 6"- PAINT	4383.0	FOOT	\$0.35	\$1,534.05	\$0.01	\$0.01	\$0.01
35	70300261	TEMPORARY PAVEMENT MARKING - LINE 12"- PAINT	3439.0	FOOT	\$1.00	\$3,439.00	\$0.01	\$0.01	\$0.01
36	70300281	TEMPORARY PAVEMENT MARKING - LINE 24"- PAINT	549.0	FOOT	\$2.00	\$1,098.00	\$0.01	\$0.01	\$0.01
37	70307120	TEMPORARY PAVEMENT MARKING - LINE 4" - TYPE IV TAPE	8972.0	FOOT	\$1.00	\$8,972.00	\$0.01	\$0.01	\$0.01
38	78000100	THERMOPLASTIC PAVEMENT MARKING - LETTERS AND SYMBOLS	1457.0	SQ FT	\$1.00	\$1,457.00	\$5.50	\$5.50	\$5.50
39	78000200	THERMOPLASTIC PAVEMENT MARKING - LINE 4"	36982.0	FOOT	\$1.15	\$42,529.30	\$0.75	\$0.75	\$0.75
40	78000400	THERMOPLASTIC PAVEMENT MARKING - LINE 6"	27658.0	FOOT	\$1.50	\$41,487.00	\$1.00	\$1.00	\$1.00
41	78000600	THERMOPLASTIC PAVEMENT MARKING - LINE 12"	3439.0	FOOT	\$2.00	\$6,878.00	\$2.50	\$2.50	\$2.50
42	78000650	THERMOPLASTIC PAVEMENT MARKING - LINE 24"	549.0	FOOT	\$5.00	\$2,745.00	\$5.50	\$5.50	\$5.50

Item No.	Pay Code	Description	Quantity	Unit	Eng Unit Price		Min. Bid Price	Max. Bid Price	Avg. Bid Price
		·			Unit Price	Extnd. Price			
		PREFORMED PLASTIC PAVEMENT MARKING, TYPE D - STANDARD -							
43	78004620		5218.0	FOOT	\$15.00	\$78,270.00	\$7.60	\$7.60	\$7.60
	70011000	GROOVING FOR RECESSED PAVEMENT MARKING, LETTERS AND SYMBOLS	1750.0	SQ FT	\$2.00	\$3.500.00	\$2.00	\$2.00	¢0.00
44 45	78011000 78011025	GROOVING FOR RECESSED PAVEMENT MARKING 5"	36982.0	FOOT	\$2.00	\$3,500.00	\$2.00 \$0.40	\$2.00	\$2.00 \$0.40
45	78011025	GROOVING FOR RECESSED PAVEMENT MARKING 3	27658.0	FOOT	\$0.65	\$12,943.70	\$0.40	\$0.40	\$0.40
40	78011035	GROOVING FOR RECESSED PAVEMENT MARKING 7 GROOVING FOR RECESSED PAVEMENT MARKING 8"	5218.0	FOOT	\$0.80 \$0.80	\$17,977.70	\$0.45	\$0.45	\$0.43
47	78011040	GROOVING FOR RECESSED PAVEMENT MARKING 5	3439.0	FOOT	\$0.80	\$3,439.00	\$0.70	\$0.70	\$0.70
40	78011005	GROOVING FOR RECESSED PAVEMENT MARKING 13 GROOVING FOR RECESSED PAVEMENT MARKING 25"	549.0	FOOT	\$2.00	\$3,439.00	\$1.00	\$1.00	\$1.00
49 50	78300200	RAISED REFLECTIVE PAVEMENT MARKER REMOVAL	574.0	EACH	\$2.00	\$14,350.00	\$2.00	\$2.00	\$2.00
50	81028210	UNDERGROUND CONDUIT, GALVANIZED STEEL, 2 1/2" DIA.	9.0	FOOT	\$25.00	\$14,330.00	\$189.40	\$189.40	\$9.00
51	85000300	MAINTENANCE OF EXISTING TRAFFIC SIGNAL INSTALLATION	9.0	L SUM	\$75.00	\$675.00	\$189.40	\$189.40	\$189.40
52	87301215	ELECTRIC CABLE IN CONDUIT. SIGNAL INO 14 2C	230.0	FOOT	\$5,000.00	\$5,000.00	\$40,000.00	\$40,000.00	1
53 54	87301215	ELECTRIC CABLE IN CONDUIT, SIGNAL NO. 14 2C	230.0	FOOT	\$35.00 \$40.00		\$5.90	\$5.10	\$5.10
	87301225	CONCRETE FOUNDATION. TYPE A	239.0	FOOT		\$9,560.00		1	\$5.90
55 56	87800100	DRILL EXISTING HANDHOLE	4.0	EACH	\$1,000.00	\$4,000.00	\$852.80 \$657.00	\$852.80 \$657.00	\$852.80
50	87900200	RELOCATE EXISTING PEDESTRIAN SIGNAL HEAD	1.0	EACH	\$750.00 \$250.00	\$750.00	\$657.00	\$657.00	\$657.00
57	89500200	RELOCATE EXISTING PEDESTRIAN SIGNAL HEAD	1.0	EACH	\$250.00	\$250.00 \$250.00	\$1,297.00	\$1,297.00	\$1,297.00 \$1,292.00
	89500400	RELOCATE EXISTING TRAFFIC SIGNAL POST	1.0	EACH					
59 60	89501150	REMOVE ELECTRIC CABLE FROM CONDUIT	18.0	FOOT	\$500.00 \$10.00	\$500.00 \$180.00	\$1,297.00 \$0.60	\$1,297.00 \$0.60	\$1,297.0 \$0.6
		REBUILD EXISTING HANDHOLE							
61	89502376 89502385	REMOVE EXISTING CONCRETE FOUNDATION	1.0	EACH EACH	\$2,500.00 \$500.00	\$2,500.00 \$500.00	\$7,435.00	\$7,435.00	\$7,435.0
62 63	LC200051	REJECTED LOAD TRANSPORTATION	1.0 1.0	LOAD	\$500.00	\$500.00	\$2,560.00 \$250.00	\$2,560.00 \$540.00	\$2,560.00 \$395.00
		MAINTENANCE OF TEMPORARY EROSION CONTROL SYSTEMS	5700.0						
64	LC200501			UNIT TON	\$1.00	\$5,700.00	\$1.00	\$1.00	\$1.0
65	LC400161	LEVELING BINDER (HAND METHOD), N70 SEAL COAT	5.0		\$250.00	\$1,250.00	\$100.00	\$200.00	\$150.00
66	LC400202	PAVEMENT REJUVENATOR - MALTENE BASED	5460.0	SQ YD	\$5.00	\$27,300.00	\$1.89	\$2.10	\$2.00
67	LC400209	TEMPORARY REFLECTIVE TABS - 4"	84868.0	SQ YD	\$3.50	\$297,038.00	\$1.28	\$1.28	\$1.2
68	LC400210	PAVEMENT MARKING CLEANING	710.0	EACH	\$3.00	\$2,130.00	\$3.15	\$3.15	\$3.1
69	LC400211	ACCEPTANCE TESTING	4775.0	UNIT	\$1.00	\$4,775.00	\$1.50	\$1.50	\$1.5
70	LC400214	CLEAN EXISTING STRUCTURES	1.0	L SUM	\$10,000.00	\$10,000.00	\$6,385.00	\$10,000.00	\$8,192.5
71	LC600004	INSTALL SURVEY MONUMENTS	1.0	EACH	\$10,000.00	\$10,000.00	\$700.00	\$1,500.00	\$1,100.00
72 73	LC600200 X2800500	INSTALE SOLVET MONOMENTS	10.0 4.0	EACH EACH	\$1,000.00 \$250.00	\$10,000.00 \$1,000.00	\$250.00 \$300.00	\$400.00 \$450.00	\$325.00 \$375.00
73	X4401198	HOT-MIX ASPHALT SURFACE REMOVAL, VARIABLE DEPTH		SQ YD			\$300.00	\$450.00	
74	X6060505	CONCRETE CURB (SPECIAL)	1800.0 200.0	FOOT	\$50.00 \$50.00	\$90,000.00 \$10.000.00	\$3.05	\$5.00	\$4.3 \$37.5
		ENGINEER'S FIELD OFFICE, TYPE A (MODIFIED)							
76	X6700405	TRAFFIC CONTROL AND PROTECTION, (SPECIAL)	12.0	CAL MO L SUM	\$3,200.00	\$38,400.00	\$100.00	\$3,300.00	\$1,700.0
77 78	X7010216 XX006343	SEEDING (COMPLETE)	1.0 1137.0	SQ YD	\$50,000.00 \$25.00	\$50,000.00 \$28,425.00	\$64,750.00 \$11.50	\$150,000.00 \$12.70	\$107,375.0 \$12.1
78 79	XX006343 XX006429	SIDEWALK, SPECIAL	1137.0	SQ YD SQ FT					
		RAILROAD PROTECTIVE LIABILITY INSURANCE			\$10.00	\$13,200.00	\$12.00	\$13.50	\$12.7
80	Z0048665	SEGMENTAL BLOCK RETAINING WALL REPAIR	1.0	L SUM	\$10,000.00	\$10,000.00	\$5,000.00	\$7,235.00	\$6,117.5
81	Z0064562		1375.0	SQ FT	\$50.00	\$68,750.00	\$20.00	\$59.20	\$39.60
					Total	\$4,161,833.85			